%
=
5
g
>
P
3
o

=
4
&k
m
o)
=

114.2.24

1 E

Ry (23)

EEE
(R7% &)

[1823%] =2
(LA < 4f)

[1825L] p BaBATH =3 2 T2 < 4 -
AFLT e R(PEFFTAELIRL) ©
Fep 48

30 % 45

15 ~

EXPED
(LA~ 4f)

BAREEATR 4L 3 RERE L
SAFELDE SHEF

WIHEP LA QR T o

[(AF22] p2FAHOEF o H)F 214 4FHG
AR HP R(FTFTAENIRE) -

FepE ) 45 B

—

CHE) -

40 ~ 48

15 ~

b i

%iﬁv&;%’—-r.r—, 4%’%.»!»1 v i%‘l—ﬁi—é %E ?\? o
Poakl ATHR LR RRE S K JEL

20 4 4B

300~350

e

- 4B
CEEY

SR e O 0D = O

Brhamsh v AT AER T L3 R )b, (ke <
FEHES RDEL
TP A Rp R
%ﬁiiﬁa(«@ﬁﬁjlowbkufﬂo

a&,ﬂﬂ"f ERE

20 4 4B

15 ~

AN TR SR A S S )

’;Jij_ Frod AR ERE S K IEL -

20 ~ 48

200~250

T

=
=k
¥
(&

S A e o

Bk THP Rt ki WS

ARIFT () EFTAELIRE) -

100 4

l‘a;

150~170

e




